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Solve the following money word problems.

Walter has six five dollar bills, a one dollar bill, five quarters, three dimes, four nickels
and ten pennies in his wallet.
How much money does Walter have in all?

Tabitha has a ten dollar bill, three five dollar bills, eight quarters, six dimes, a nickel and
four pennies in her purse.
How much money does Tabitha have in all?

Dean has $12.00 in his wallet. His friend Allen gives him a five dollar bill, and one dollar
bill, two quarters, a dime and a nickel.
How much money does Dean have now?

Faye has $28.50 in her purse. She spends two five dollar bills, six one dollar bills, a
quarter, five dimes, a nickel and two pennies.
How much money does Faye have left?

Tim has two ten dollar bills, three one dollar bills, seven quarters, six dimes, two nickels
and a penny in his wallet. Ben has $26.25.
Which boy has MORE money?

Wendy has four five dollar bills, seven one dollar bills, four quarters, five dimes, a nickel
and four pennies. Kate has $28.30.
Which girl has LESS money?
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